meccanoindex.co.uk

Bauanleitung

GCONSITUGL




meccanoindex.co.uk

The C 07 car body construc-
tion set is an addition to the
metal construction kits and
allows a variety of car
models ranging from small
all-terrain cars to large four-
axle semitrailer trucks to be
built almost true to nature.
The range of single parts
includes speécial elements
for the construction of
vehicles such as wheels,
doors, etc. apart from the
numerous time-tested com-
ponents supplied with the
metal construction kits. The
present building instruc-
tions describe some models
which you can make by
using this kit. The design

of such vehicles is explained
on the basis of the tipper/
semitrailer truck with a
driver’s cabin that can be
tilted forward.

Enjoy these constructing
and building activities and
have success.

Exporteur:

Spielwaren und Sportartikel
Export-import

Volkseigener
AuBenhandelsbetrieb

der Deutschen
Demokratischen Republik
DDR - 1080 Berlin
Charlottenstr. 46

etay
ety
%

g il
i o

rfb,,r

Designation

1561 | bumber 1112| 11 X 5-hole elbow plate 3
1562| mud guard 1122| 5 X 3-hole trapezoidel plate 8
1563| petroltank 1151| 10-mm dia. washer 4
1564 | front cover 1152| 20-mm dia. washer 2
1565 | front screen 1203| 5X1-hole bracket 2
1566 | flat centre segment 1221 | small 3<1-hole bracket 2
1567 | high centre segment 1252 1x1 oblong hole angle 8
1568 rear wall 1253| 2x1-hole angle 6
1569 | door 1261| Z-type angle 2
1570 | seat element 1271 | pillow block 1
1571 | loading flap 1351 | 4x35dia. axle 1
1572| steering wheel 1352| 4x65 dia. axle 1
1423 | tyre (TAURUS) 1353| 4x95dia. axle 7
1304 | wheel rim (TAURUS) 1372| 44-mm threaded pin 2
1002| 3-hole flat rod 1402 | elastic setting ring 17
1003| 4-hole flat rod 1411| crank 2
1004| 5-hole flat rod 1413| detent pawl 2
1006 | 7-hole flat rod 1414| screw-on band 4
1007 | 9-hole flat rod 1501 | M4x6 screw 150
1009 15-hole flat rod 1502| M4x8screw 14
1005 6-hole (oblong) flat rod 1511| M4 nut 175
1008| 11-hole (oblong) flat rod 1552 | screwdriver 1
1051 | 10-hole angular rod 1553 | spanner 2
1052| 15-hole angular rod 1554 screw holder 1
1111| 5 X 5-hole elbow plate

englisch




x
S
o
3]
x
[}

e]

£
o
c
]
Q
(8]
Q
£




e e e e e —————— ee—————————————.
meccanoindex.co.uk




meccanoindex.co.uk

(i STy
| =

T S
gy




Gonstruction

Bauanleitung




meccanoindex.co.uk




meccanoindex.co.uk




The C 07 car body construc-
tion set is an addition to the
metal construction kits and
allows a variety of car
models ranging from small
all-terrain cars to large four-
axle semitrailer trucks to be
built almost true to nature.
The range of single parts
includes spécial elements
for the construction of
vehicles such as wheels,
doors, etc. apart from the
numerous time-tested com-
ponents supplied with the
metal construction kits. The
present building instruc-
tions describe some models
which you can make by
using this kit. The design

of such vehicles is explained
on the basis of the tipper/
semitrailer truck with a
driver’s cabin that can be
tilted forward.

Enjoy these constructing
and building activities and
have success.

Exporteur:

Spielwaren und Sportartikel
Export-import

Volkseigener
AuBenhandelsbetrieb

der Deutschen
Demokratischen Republik
DDR - 1080 Berlin
Charlottenstr. 46

meccanoindex.co.uk

Designation

1561 | bumber 1112| 11 X 5-hole elbow plate 3
1562| mud guard 1122| 5 X 3-hole trapezoidel plate 8
1563 | petroltank 1151| 10-mm dia. washer 4
1564 | front cover 1152| 20-mm dia. washer 2
1565 | front screen 1203| 5x1-hole bracket 2
1566 | flat centre segment 1221| small 3X1-hole bracket 2
1567 | high centre segment 1252| 1x1 oblong hole angle 8
1568 rear wall 1253| 2x1-hole angle 6
1569 | door 1261| Z-type angle 2
1570| seat element 1271 | pillow block 1
1571 | loading flap 1351| 4x35dia. axle 1
1572| steering wheel 1352| 465 dia. axle 1
1423| tyre (TAURUS) 1353| 4x95 dia. axle 7
1304 | wheel rim (TAURUS) 1372| 44-mm threaded pin 2
1002| 3-hole flat rod 1402 | elastic setting ring 17
1003 4-hole flat rod 1411| crank 2
1004 | 5-hole flat rod 1413| detent pawl 2
1006 | 7-hole flat rod 1414| screw-on band o
1007 | 9-hole flat rod 1501 | M4x6 screw 150
1009| 15-hole flat rod 1502| M4x8screw 14
1005| 6-hole (oblong) flat rod 1511| M4 nut 175
1008| 11-hole (oblong) flat rod 1552 | screwdriver 1
1051| 10-hole angular rod 1553 | spanner 2
1052| 15-hole angular rod 1554 | screw holder 1
1111| 5 X 5-hole elbow plate

englisch



meccanoindex.co.uk




